Order of Operations (A)

Perform the operations in the correct order.

L2x(=7) = (10+(=2) +10-+54(-7))
5 (2 % 2)(((—7+6)5)9>3
3 (—1) x (—4) = (=1) = (=7+9)

4 (44+3)x 1+ ((—1)5 x <—1)7)

5.3+ ((—1)9 X 2+10+(—9))8

Math-Drills.com




Order of Operations (A) Answers

Perform the operations in the correct order.

L 2% (=7) = (10 (=2) +10 =5+ (=7))
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Order of Operations (A)

Perform the operations in the correct order.

L (8 - (_8>)(9+(—7)><1)><6

2.8+ (—2—4+48+4+(—4)+(-6))

W

9+ (1046~ (1—(=6))) + (—4)
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Order of Operations (A) Answers

Perform the operations in the correct order.

- (_8>)(9+(—7)><1)><6
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Order of Operations (J)

Perform the operations in the correct order.

L =34 (=1)("0(65(0) 6. —8+6+(—10) 4 (—2) x (—10)
2 4+ (24 +22) 7.9% (=5)+5—1x10

. (3 (8+(-8))7! s g0 Y
(@) 0 (<7+2-8)+(-1)’

5. (100424 (=3)) = (—1) 10. ((—1)9>5>< (~1)°
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Order of Operations (J) Answers

Perform the operations in the correct order.

L 34 (—1)0(6:(-6) 6. —88+6+(—10)+(—2) x (—10)
-2 =
) i_l (24 : 22) 7. 9:><_(1—95)+5— 1 x10
3. (3+(8+(—8)))* g g1V
—9 —
9\ 8~ (=7) 9. (=7+2-8)+(—1)
w (4 (-4)) A
=1
5. (10" +2+(=3)) = (—1) 10 ((—1)9) x (—1)°
=~ 9 =—1
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Order of Operations (A)

Perform the operations in the correct order.

1. ((10+(_10>)7)2 6. 9— (10+(=2)—5)

2.2 % (—6) =+ ((—6) x 2) 7. (1) % (8~ (~2))
3. (6—(—10)) = (4+ (-2)) 8. 5+(=7)—(-3)+2
4 (241)x6+(-9) 9. (=10) x (=1) = (-8) +4
5. (=2)+2+(1+(=1)) 10. 1% (—=3) x (=3+2)
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Order of Operations (A) Answers

Perform the operations in the correct order.

L (105 (-10))7) 6.9 (10+(-2) -3

2 2% (~6) = ((~6) x2) o

5 (6 (-10))+ (4= (-2) SN = (342
Q4D x6+(-9 0. (C10)x (~1) = (=8) 4
. (D524 (1 (-1) 10- 1 (=3) > (=3+2)
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Order of Operations (A)
Perform the operations in the correct order.

2x5-7 6.5+ (—1)" 1. 8+2—(-3)

. Ix(34(-1)) - (_1>(—2)><(—8) 12. 4 X (—1)2

. —8—5+(-5) 8. —10 -2+ (—2) 13. 94+2—(-5)
. =346+ (-9) 9. —4+(—9) = (—1) 14. 1 x 14+ (-9)
(=) x (=)= (=1) 10 (T4 (—=4))=(=3) 15. =1 —(=9+(-3))

Math-Drills.com




—

W

N

Order of Operations (A) Answers

Perform the operations in the correct order.

2x5-7 6.5+ (—1)" 1. 8+2—(-3)
—3 _ —7
9:><1§3+(—1)) . (:_11)(—2)><(—8) 12. 12(_1)2

- ;8_—1§+(—5> 3 ;199—2+(—2> 13, 9:+1§— (—5)

. :3_726+(—9) 9. =4+ (=9)=(—1) 14. 1_>< 18+(—9)

(=5) x (=1)—(-1) 10. (74 (—4))+(-3) 15. =1 — (=94 (-3))
—6 = —1 =11

Math-Drills.com




	into 6 step
	int 5 step
	int 4 step
	int 3 step
	int 2 step

